8000 GeV pp tt
= I | I I I | I I I | I I I | I |— ﬂ
<O 0.1— 5
- Al events, level informati 1z
B c VS I\/I[tbar (ttevents, parton level information) 49
0.08— =m cwms 2
— --©O-- Herwig++ 2.5.1 default N
0.06 — -~B-- Herwig 7.2.1 default 13
-~ —&— Pythia 8.308 default 15
L --¥-- Pythia 8.308 vincia-default o
0.04 — .+ Sherpa2.2.5 default —_-02:
0.02 — ]
_ 48
0— &
B o
— 10
- 1
—0.02 — =
B X<
B 1=
—0.04 — —15
c
B s
—0.06 — — v
— -9
- —
L | o
-N N = S S S =
2 £ -2
o F ¥ -
= — BN _
@) L I \‘\_\ _
S 1 - — 1
ie) / . ) |
T B ' e ! |
14 / Sl !
B ,'/' \'\.+ |
0.5 - /\ | 0.5
l.| 1 1 | 1 1 | 1 ! 1 | 1 1 |
400 600 800 1000 1200



	Contents
	Page 1


